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* AR REDLENT wtmg; WEILET

A A4 X B | - AR BIEM {4 =
BHHN 6 = 5k 5kg & kg 900 EiE
YN 1B = 5kg #a kg 850 TE
BHYN 8 = 5kg & kg 800 EE
BHYN 102 = 5kg 5= kg 750 EiE
I YN 12 FE #94.5kg & # | 4,000 EiE
I<HN 8 FE #94.5kg & % | 3,900 FiE
I YN 102 FE 5kg 8 i 750 FiE
Y 7/9kg & 1A 5= kg 900 EE
7Y 2 E 10/13kg & kg 800 EE
hy#t 4kg R 1A & kg | 1,200 £
hvx S5kg | 1A 7 kg | 1,150 £
HhuA 4kg aF 1A 8 kg | 1,900 & IEA
HVF 3kg =F 1A & kg | 1,400 Al lEFE
- B e 5kg o kg | 1,150 & 5H
HIF 4/5% = S5kga 7 kg | 1,400 EBE
+ B 4 Ed0d 5/5.5kg & kg | 2,750 8 BEF
TH 1.5/2kg &5 1A b kg | 2,000 TE &~
B 3/4kg = 1A #a kg | 1,900 TE &~
B 2/3kg = 1A 78 kg | 2,000 EE FEX
=R 2.5kgUP =5 1A e kg | 1,400 8 E
TAF A 3/4 R 3kgE & kg | 2,200 EE &~
G 2B k.S 2/3kg & kg | 3,400 EE FX
EBYUINE EiE 500g & P | 2,600
iy 102 FEF P P | 1,200
BT 102 5 kg P P | 3500
£S5 100g N P P 500
ry+H $3300g JtiEE & kg | 1,600
4512 100g sy & % | 3,000
HHT 100/130g | FI% & kg | 3,200
HH4T 150/180g | RIF & kg | 3,200
HHT 200/250g | EUF & kg | 3,200
HHT 250/300g Ri& & kg | 3,400
BT 30/40g wn & kg | 3,200
BEYYT 40/50g e & kg | 2,800
EYHT 50/60g i]s| 1& kg | 2,700




